11
(1)

1x1072cm/s




¥ et o

A = - o L

M

2

-,‘\ X /l_;,u//‘:‘__ Z ///-' " / : ) o
e // 7 _///;? 47
o 2 o o 2 e B, _/'J\' :

=
= e - e "\E’Q"”'l %
R = 2iq
L0 2 =
& //‘:}///é/ /fj o .f{z/—" = % i AT
2 : i : I
ihi o £

° % N
0 /é//

e

1-2

_

o Cues

BN

0 §m

R

7 R



A

mB

120

n_F E*

A-X

5000m -



(@)

51 62 3
51 3 15 12.6%  16.0%
17.1km? 71.4%  68.5% 2.9
km? 1-1 1-4
58 11 3.6
2.9
1-2 1-5
15
50 291 km?  247km2 44 km? 15%
1-6
1-1 S51 H3
s51 62 H3
( km)| ) (( km)| ) (( kmd) | (%)
21.7 4.4 18.7 3.8 18.6 3.7
0.5 0.1 2.8 0.6 2.7 0.6
62.5 12.6 78.0 15.7 79.6 16.0
354.7 71.4 342.9 69.0 340.1 68.5
7.9 1.6 6.2 1.2 6.2 1.2
16.7 3.4 16.2 3.3 16.8 3.4
2.5 0.5 3.4 0.7 4.1 0.8
0.0 0.0 0.0 0.0 0.2 0.0
28.8 5.8 25.0 5.0 24.9 5.0
0.3 0.1 0.3 0.1 0.3 0.1
0.7 0.2 3.1 0.6 3.0 0.6
* 1
1-2 S58  H11 ha
S58 | $62 H4 HO H11
39,316 | 38,383 | 37,427 | 35,374 | 35,102
47.7 | 46.8 46.0 44.4 44.1
31,967 | 31,908 | 31,768 | 31,500 | 31,499
38.8 | 38.9 39.0 39.5 39.6
3,562 | 3,561 | 3,573 3,517 3,516
4.3 | 4.3 4.4 4.4 4.4
4,348 | 4,604 | 4,818 5,049 5,138
5.3 | 5.6 5.9 6.3 6.5
91 | 955 1,042 1,214 1,241
1.2 | 1.2 1.3 1.5 1.6
2,235 | 2,571 | 2,805 3,078 3,146
2.7 | 3.1 3.4 3.9 4.0
15
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2 13 H5 H12 10 19.3 m3/s 6.5m3/s
10 3.4 m3/s 13 10
50.0 m3/s 24.7 m3/s 10 18.1 m3/s
. R RERMGS
RGBS
(T
1-10
1-3
10 1378.1 52.3 35.0 25.3 8.9 6.8
10 177.4 15.6 10.3 4.1 3.4 0.5
10 773.0 34.1 19.3 11.1 6.5 4.2
2 13 H5 H12 m3/s 1,120.0km?2
1-4
10 1594.2 74.4 54.9 44 .6 30.2 20.2
10 232.4 53.3 40.3 28.0 18.1 11.1
10 693.3 66.1 50.0 38.7 247 16.0
4 13 m3/s 569.0km?
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